Effectue les calculs suivants. "‘j‘”é - Calcule mentalement chaque - " |

At e P ) o A=3x(-3)x(-3) =+ <%
A‘Jlm@ S B2{-x9x(-11)= +.99

A= A6 = (Au+3) = A6-1F -4 T .
B=(+45)+(-16) + (- 3,5) + (- 3) + (+ 2,5) D=(-1) x (-1) x (- 342) x (- 1) = + 342

°= @ 16.-3,5=3 *@ E=(-2)x(-05) %2814 = + 381,4

B= (4.5+2,5) - (u6+35 re)‘) F=(-23)x0x(-75) % (-055) x(-32) = + O
8:4—22,5:-45'5 G=(-1) x(~1) X . x (-1 ==4
C=(-7)-(+11)-(- 1) 99 facteurs }‘

cmis oL D g ot e o T
Soum b ey e T oes Ml

C= A -4 = - 13 regroupements astucieux. x4

H = (=50) X (=13) X (e )\((—125)><L- )
D=(+2)-(-6)+(-3)-(-7)+(+12)-(+9) =

D= .o + 663+ + » 12T 9
D=Z+6+3F+42) - (9+3)

H= 2. 400 % A0 #.13

H= = A 30 ocoo

H= =
D= 24 - 42 = AG J = (=4) x (=0,125) X 2,5 x (=4,23) x 8
p— N ~— =

=(-2)-(-1)-5+4+77 J == ACC *ACco0 * 4R

E= -2 :r/f\,-—S& P b J== A0 x 4,23

E= (dab+33) - (2+5) jo— 42,3 SR TR —
E=  R2- % - 15 K = 0,001 X (=4,5) x (- 10)* X (=0,2)

Al caleule. [+] E: i »o e emr e el
a. 0.1%(-12)= = o2 S s R B R B o S

b. (-02)x5="= 4,0 1l Calcule. t‘f‘g

¢ (25 x(-4)= + IO " _3% 22y 3

d.  10x%(-017)= = 4,3 ] _45 |

e. (-125)x(-8)= + ACLO b. S5 =415 =2-3

f. (-02)x2= = Ol . ~_146:+ e

g. (-5)x(-007)= + 035

h. (-03)x(-6)=+ 8 d. “04 == 0. =0

1 Compléte par le signe <l?m§ e. %’35‘ =+ 236 :9:=4%

ou « - », .

a. (=21)+(-7)=3 f. = 6334

b. (+2):(+4)=05

c. 16 + (= 8) = - 2 e

d.  (-63)+(+7)=-9 h. {_ﬁ.fii_?:,f 6 =M= &

e. 49+ (+ 7) =7

f. (-121) + (-~ 11) = - 11




